BxX3—10

HRARBHRERELEEFHR

(1.77)

TEH23F9RE HERREEERL
REBRE
— BT LS
SR EMA RS EREMAESR
1L 1 5 30 150 500 O 1L 1 5 30 O
A ~ ~ ~ ~ Ll E Y AHE B®OEF A ~ ~ ~ Y AHE ROF
5 30 150 500 5 30 150

fipss 100 3,372 531 174 0 0 4, 177 40, 485 0 0 0 50 50 50
=5 0 879 1,342 517 0 0 2,738 21,016 0 0 0 1,622 1,622 7,930
REEH A 155 9, 150 4,071 1,571 12 0 14, 959 95, 717 0 0 0 0 0 3
K 0 3 0 200 0 60 263 1, 200 0 0 0 0 0 0
72 0 85 161 52 0 0 298 7,281 0 106 585 11 702 3, 117
th3 0 50 80 0 0 130 257 0 0 0 0 0 0
ik 5 0 0 250 0 0 250 2, 552 0 0 0 0 0 0
=% 0 40 381 58 0 0 479 2,913 0 0 0 2 2 21
R K 0 2 0 0 3 158 0 0 0 0 0 0
TF L 0 0 0 0 0 8 0 0 0 0 0 0
AL % 0 502 0 0 502 1,527 0 0 0 0 0 0
~U YL 10 15 0 0 39 768 0 0 0 0 0 3
FIRH A 0 94 0 0 94 193 0 0 0 0 0 0
PG 2 893 0 0 900 4,162 0 0 0 430 430 630
SG 0 250 0 0 250 2,161 0 0 0 0 0 0
Z DO 1,497 126 423 1,177 0 48 3,271 16, 480 0 0 240 22 262 1,424
=xis 1,764 14,173 6,975 5,321 12 108 28,353 | 196,878 0 106 825 2, 137 3, 068 13,178
LG 8, 776 97, 864 54, 541 35, 276 195 226 | 196,878 | 196,878 0 269 4, 147 8, 762 13,178 13,178
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TH23FE9RHE

AARNBHREHELEERR

BAHERBRE
BHEAE (500 LK)
1L 1 5 30 150 FOE
ES ] ~ ~ ~ ~ M HE B3
5 30 150 500

LPHA 0 300 8,027 77,711 0 86, 038 428,772
LT =T 0 0 0 100 0 100 280
TEFLUHA 0 300 200 250 0 750 3,700
TNAa =R 12 0 0 0 0 0 0 0
T A —mR 22 0 0 0 100 0 100 2,070
INFaH—R134a 0 0 0 0 0 0 0
INAaH—1R502 0 0 0 0 0 0 0
T A a B —R L F DM 0 0 0 0 0 0 69
VR4S 0 0 0 0 0 0 0
~U T 0 0 0 0 0 0 7
Ta 30 0 0 0 0 30 38
iR A 0 0 0 0 0 0 0
FC1 0 0 0 4 0 4 56
FC2 0 0 0 0 0 0 0
FC3 0 0 1,520 100 0 1,620 16, 196
Z D 50 42 32 400 0 524 1, 945
M HE 80 642 9,779 78, 665 0 89, 166 453,133
ERE RG] 406 3,816 55, 680 393, 231 0 453, 133 453,133

(2./7)

WERREERE
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HARNBRBREHELEESTET (3.7)
Fk23F98E HERESEXL
B2 & B &
BERRR (500LBL)

500L 1000 2000 4000 6000 7000 8000 9000 11000 13000 15000 17000 18000 O

~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ 2Lk % HF R F

1000L 2000 4000 6000 7000 8000 9000 11000 13000 15000 17000 18000
LPHA 0 0 0 3 2 0 0 0 1 0 0 0 15 21 185
LT =T 44 7 0 0 0 0 0 0 0 0 1 0 0 52 326
T A a—mR1 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T A a—mR 22 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3
T A a—mR3 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
INAOH—R134a 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
INAO =R 502 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
7V A a1 —AR 2D 54 0 0 0 0 0 0 0 0 0 0 0 0 54 97
[ES 25 0 0 0 0 0 0 0 0 0 0 0 0 25 106
M kR 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T k& 5 0 0 0 0 0 0 0 0 0 0 0 0 5 10
AF ) T—F )L 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FC1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FC2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FC3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Z D 0 0 0 0 0 0 0 0 0 0 0 0 0 0 57
M HEF 128 7 0 3 2 0 0 0 1 0 1 0 15 157 784
AR R A 508 151 1 50 7 4 3 0 2 0 1 0 57 784 784
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HAGNBGRRER=EEEESTEX (47)

TR23FEQRE HKBRREBE
BERE
HBIEERES (500 LKA FBIEERS (500LLE)
1L 1 5 30 150 isyis 500 | 1000 | 2000 [ 3000 | 4000 | 5000 | 6000 | 7000 | 8000 | 9000
S ~ ~ ~ ~ | YA i ~ ~ ~ ~ ~ ~ ~ ~ ~ ~
5 30 150 500 2000 | 3000 | 4000 | 5000 | 6000 | 7000 | 8000 | 9000 | 10000
WALl 80 0 0 0 120 200 | 1,092 0 0 0 0 1 0 1 0 0 0
RILER 0 0 0 0 120 120 956 0 0 0 0 0 0 0 1 0 0
TR IR 0 0 0 0 100 100 160 0 0 0 0 0 0 0 0 3 0
A A= 0 0 0 0 80 80 384 0 0 0 0 0 0 0 0 0 0
TRAL KR A 0 0 0 0 40 40 104 0 0 0 0 0 0 0 0 0 0
Z D, 0 0 0 0 40 40 100 0 0 0 0 0 0 0 0 0 0
4 H G 80 0 0 0 500 580 [ 2,796 0 0 0 0 1 0 1 1 3 0
EERE 230 0 0 480 [ 2,086 | 2,796 | 2, 796 0 0 0 0 1 1 1 2 6 3
BHERE
FBIEERE (500LLE)

10000 | 11000 | 12000 | 13000 | 14000 | 15000 | 16000 | 17000 | 18000 | 19000 | 20000 | 21000 | 22000 |24, 000 isNis

~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ | BLk [HMAG| R

11000 | 12000 | 13000 | 14000 | 15000 | 16000 | 17000 | 18000 | 19000 | 20000 | 21000 | 22000 | 24000
WALl 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 4
RiLER 0 0 0 0 0 0 0 0 0 0 0 0 0 1 14
TR IR 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3
A A= 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2
TRAL KR A 0 0 0 0 0 0 0 0 0 1 0 0 0 2 3 27
Z D 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3
M H G 0 0 0 0 0 0 0 0 0 1 0 0 0 2 9 55
R 2 3 5 2 1 0 0 0 1 4 0 0 2 21 55 55
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AARNBHREHELEERHNKR (5.77)

Fk23F98E HEREEEXL
BHEBRE
—REERE
-
o N I N L Py P I
D 30 150
&S 0 3,312 0 0 0 3,312 | 28,129
EH 0 210 0 0 0 210 785
EEE 0 396 853 0 0 1, 249 6, 059
KK A 0 0 0 0 0 0 0
K# 0 0 0 0 0 0 0
Z DAth 0 0 0 0 0 0 0
&El 0 3,918 853 0 0 4,771 | 34,973
AR R 0 | 29,587 5, 386 0 0 | 34,973 | 34,973
BHEBRE
ERRXAAAEBERBEERARSE BT LEE)
5L 30 150 160 170 180 190 200 210 220 B 4 pE
-~ ~ -~ ~ ~ ~ ~ o~ ~ sk U A Gk
30L 150 160 170 180 190 200 210 220
KEKH A 28 157 34 0 0 0 0 0 0 0 219 744
RS2 58 585 101 0 0 0 0 0 0 0 744 744
BHEBRE
ERRAARAEBDERPMEERARSE (EEHEE)
5L 30 150 160 170 180 190 200 210 220 . 4 g
~ - -~ ~ ~ ~ -~ - -~ Pk SAE Bt
30L 150 160 170 180 190 200 210 220
KEKH A 0 0 0 69 0 0 0 0 0 0 69 79
EREERE 0 0 0 69 0 10 0 0 0 0 79 79
BHEBRE
EfEKREBNERNEERSSE
5L 30 150 160 170 180 190 200 210 220 . 4 pE
-~ - -~ ~ ~ ~ -~ - -~ sk SHE BREt
30L 150 160 170 180 190 200 210 220
IKEH A 4 0 0 0 0 0 0 0 0 0 4 105
ARG 4 101 0 0 0 0 0 0 0 0 105 105




#xX3—-10

A '_I_\| sle E E
HARNBREREH=Z2EESTE (6.77)
TR23FE9RE
BRHERE
EfEKRELBHERARS

5L, 30 150 160 170 180 190 200 210 220 o ERE

~ ~ ~ ~ ~ ~ ~ ~ ~ oLk % HE [

30L 150 160 170 180 190 200 210 220
K& A 0 0 0 0 0 0 0 0 0
EE R 0 0 0 0 0 0 0 0 0

BRHERE
BIEXARTREHERBEERASSS

5L 30 150 160 170 200 250 500 — ERE

~ ~ ~ ~ ~ ~ ~ o | HHER | m=

30L 150 160 170 200 250 500
RIRH A 0 0 0 0 0 0 0
R 0 0 0 0 0 0 0

BRHERE
55t ITR%%
1L 1L 5L 30L 1501 500L 1000L R
~ ~ ~ ~ ~ % HE BE

R 5L 30L 1501 500L 10001, oLk
LPG 0 0 0 0 0 0 0
Z DAt 0 0 0 0 0 0 0
EE R 0 0 0 0 0 0 0

HERREERE
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> o *h = £
HARNBHREREH=EzEESHE (7.77)
TR23FE9RE HBRBREEEXRL
BRHERE
BRTCAZILLRS
1L 1L 5L, 30L 1501 500L 1000L, EOpE
~ ~ ~ ~ ~ w2 B
R 5L, 30L 1501 500L 10001, Lk
JNAFaH—R 12 0 0 0 0 0 0 0 0 0
INNFEH—RL 2 2 0 0 0 0 0 0 0 0 0
A aH—R 32 0 0 0 0 0 0 0 0 0
I FaH—R134a 0 0 0 0 0 0 0 0 0
I FEH—RL 502 0 0 0 0 0 0 0 0 0
)V Fda =R D 0 0 0 0 0 0 0 0 0
FC1 0 0 2,326 0 0 0 0 2,326 | 27,957
FC2 0 0 0 0 0 0 0 0 0
FC3 0 0 0 0 0 0 0 0 0
Z O fh 0 0 0 0 0 0 0 0 400
2 HEE 0 0 2,326 0 0 0 0 2,326 | 28,357
TR 400 0 | 27,957 0 0 0 0 | 28,357 | 28,357
REBRE REBRE
—REEEH BIEERS
1L 1 5 30 150 EOpE 500 L 3| 500L~ [1000LLL k- v g3 EOpE
> N = = i =
A ~ ~ ~ ~ MAE ROE 1000L ROE
5 30 150 2Lk e 0 0 0 0 0
72 0 0 0 0 0 0 0 WLEFE 0 0 0 0 0
IS 0 0 0 0 0 0 0 WAL T = 0 0 0 0 0
RIRH A 0 0 0 0 0 0 0 WA 7T A 0 0 0 0 0
6 0 0 0 0 0 0 0 WRALRIR AT A 0 0 0 0 0
H i A 0 0 0 0 0 0 0 bk 0 0 0 0 0
Z D, 0 0 0 0 0 0 0 Z D, 0 0 0 0 0
&t 0 0 0 0 0 0 0 &t 0 0 0 0 0
AR 0 0 0 0 0 0 0 AE R G 0 0 0 0 0
TEEE 0 0 0 0 0 0 0 TEEE 0 0 0 0 0
RAAEE Rt 0 0 0 0 0 0 0 TEEEERE 0 0 0 0 0




